
Precision. Quality. Reliability.P

� Large output bore to mount tooling and components

�� ������	�
��	���
	�������������������	���

� Gear reduction using rolling contact to eliminate wear

�� ���������������	��
���	���
�����
���
���������	��

� Quick, highly accurate positioning capabilities

�� �����������
���
���������	����
����
���������	��


BR Series
SERVO RING INDEXER



 20  33 

 
46

0 
H

7 
+  0.

06
3

0
 

 2
90

 
 1

27
 

dc

±0.1

 

±0
.1

±0.03

 

±0.1

4 x M8x1.25 

 

 9 THRU ALL

 4
85

 

2 x 

 5
60

 

±0
.0

3

±0
.0

3

 2
42

.5
 

 25 

 2
80

 

450 

13 x 
 20° 

 

 

 1

0  10
0.015

 75 

 4
17

 

 

 

 8  H7 
+

 

 

±0.03

22

 8
27

 

 560 

 280 

 

 16

790 

 

 

510 

 

485 

 
820 

 1
83

 

 220 

 

 159 

+
 THRU 

0.015
2 x 0 8  H7 

 30° 

 50 

 379 

±0
.1

590 

12 x M12x1.75 

 18 

 

 10° 

 460 H7 
+
 

0.063
0  

OIL SIGHT GAUGE INPUT SHAFT

DRAIN

OIL FILL

REDUCER BRACKET #1

 1
15

 

 5
0 

 3
1 

750 

12
0 

32
 

 32 

 

 1
55

 

 8 

 2
70

 

 

 
±0

.2

 1
05

 

 

 2
2 

4 x GREASE ZERK

BR550 
Dimensions

BR750 
Dimensions

Model

Internal 
Gear 
Ratio*

Max Static 
Torque
[Nm]

E-Stop 
Torque 
[Nm]

Max 
Acceleration

Torque
[Nm]

Max Output 
Torque @ 5rpm 

[Nm]

Max 
Output 
Speed 
[rpm]

Position 
Accuracy 
[arcsec]

Repeatability 
[arcsec]

Axial & Radial 
Surface Runout 

[μm]

Allowable 
Axial Load 

[N]

Allowable
Radial Load 

[N]

Allowable 
Moment Load 
Output Shaft 

[Nm]

Product 
Weight 

[Approx. kg]

BR550 40 2,570 2,050 1,700 1,230 25 ��� ±10 �!� 55,900 "����� 3,300 175

BR750 40 8,910 5,530 !�$�� 3,580 25 ��� ±10 �%� 74,500 35,300 8,200 300

��������	�
��

&'�	��
�������
�������������(�������������)

*-�/������/�����-�
��:
��;��

<��%%�/	�	��-�(	��!=
/��
����'����!%>�%
PHONE: (937) 498-4901 • FAX: (937) 498-9403
���)��
Y���(	���	��
)���

SAI-BR-2017/10

a

b

 25 

00.
05

2  
 2

72
 H

7 
+  

 15 

 1
95

 
 1

17
 

dc

262 

0 

 1

 279 

10 x M8x1.25 

4 x M6x1.0  12

 40 

 4
04

 

+

±0
.0

3

 2
90

 

 

600 

 

0.052

 

 

 

320 

38
0 

 

 

570 

 

290 

 36° 

+
 
0.012
0   6  H7  8

 

±0.03

±0
.0

3

 9 THRU

 

 18 
10 x 

 9
8 

 3
12

 

 6
12

 

 404 

 

 161.5  117.5 

±0
.1

 2
02

 

 ±0.03

 76 

±0.1

 18° 
 202 

 

 
±0

.1
 1

45
  

 30° 

 14

 272 H7 

 20 ±0.1

2 x 

2 x  10  H7 
+
 
0.015
0  THRU

OIL SIGHT GAUGE OIL FILL INPUT SHAFT

DRAIN

4 x GREASE ZERK

REDUCER BRACKET #1

22
 

 31.5 

 
96

 

 

 6 

550 

 
±0

.2

 9
5 

 4
4 

 3
3 

 9
6 

 1
39

 

 2
35

 

 

 1
4 


